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One who taught this - N7 o1nnT INR

Overview

SR1W ruled that a 2R nYT? XYW "wTPNIY MR requires a Vi (because R:T 7¥INI RKAW)
and X2 (so people should not assume that 7nIR2 1POOIN PYITRP PR). 1" qualified
this ruling that it is valid only if there was a 77w (between this girl and her husband)
while the father was alive.! X7 argued on ?XmW (according to the first Pw?) that she
does not require even 1X°n. The X3 asked did X9 say this even 17°ww>? The R
answered; the one who taught this did not teach the other.> There was an ™M1RT XX
that X7V maintains a 79°7% AR X2 "OR 7°AR NYTR KXW IwIpnIw 71vp. There is a
dispute between "1 and N19010 how to explain this X772

= IRINYIN NDIWT RINIDD 230197 NN 30901P2 U0

"4 explained, the one who taught that X7 argued with Hxyw -
= H97UY NI 1IN 29 N YWII9T RWIT IND ININYIN 2310 ND

Did not teach this interpretation of 11 that the ruling of »Xyaw is only 1277ww> -
211299 199 99N DIYM 191W RDA HNINY 9INT 920 NIN

But rather the one who stated that X2 argues on XY maintains that »X1»w made

his ruling (even) in a case of 197°w XY, therefore X21w argued with >xmw, and maintains
that by 107w X% there is no need even for IR,

MooIN continues with the X913 and the >"'w3s:
= 1979 129N DIVIPA YD NN NN PN 1DAN SRIIY 90N Y9INT NIIN

Others say; 877 ruled by a 7°ax nyT% RO 7w7pPNIY 73vp, that she does not require

even R, and "2 explained that this rule is valid even if Y27°@. This concludes
mooIn citation of the X3 and >"w1o:

mooIn analyzes >"wA:¢
- NP NIYOYY $90NT NN 192 NN IND NPT 19TY N2 INT )9 W95 1YpnT Nt

And it is this which forced >"'w= to interpret it thus (that s'X?W ruling is even by

! There was an engagement. See X1 7"7 >"w.

2 See (*"wn and) the beginning of Mmoo for an explanation.

31T (awn) A"

4 The x> assumed that if 9XmWw is discussing 127w it is improbable that X917 would argue with him.

5> See X2°X 1"7 >"wM, that according to this version, X?Ww was not addressing the view of 71w, but rather it is an
independent ruling by X21v.

® Why was it necessary for >"wA to say that according to the X7 X3°X the ruling by X9 is even by 137w.

7 mooin will shortly make it clear why this is considered a ‘forced’ interpretation.
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1D7°W), for it is only by 197°w X%, what is the difference between the "M»X7 X2

and the first version. The x»p X1w°> maintains that X7 argues with 7XmWw (only) by 127w &2,
therefore the *11X7 X2°X must maintain that s'X?W ruling is even by 137w, otherwise X2V is saying
the same thing both according to the &np X% and the *MRT RIX.

nvoIN asks on *"wD:
= 19 95 NPIYN NNNY 9999 X2 11 PPRT YD

And there is a difficulty, for it is not logical to say that there should be such a

great disparity between the X»p X1w°% and the »12X7 XX (as there is according to *"w"9) -
=1975W47 22 DY N EX9I) 7099 Doy NNY
For previously the X923 asked on the view of X7 (when he was arguing with
R1W), ‘does X7 say his ruling even though 197527°?! (how can that be?!) -
= PN 298 1979WAT NN VIV 939NV NININY X220 NION
It is evident that the X923 maintained that it is an obvious conclusion that by
127°w there is a 1R requirement -
= 97598 NYT 19999N Y9INRT NIINT NIYIHY NOM)
And now here according to the version of the 592K7 X3°R we say (according to

N

1) that X1 is not necessary even >7ww>!

mooin offers his interpretation:
= 197°Y NYA NPT NIN 999919 RY NDIWHT wHaY 10AN9) 799

Therefore it is preferable (to the 5'"9) to explain that X' is only discussing
without 97°2 (both according to the "> and the 7"X) -
= NP NIYIY Y99RT NIIN 122 PIIN UM
And nevertheless there is a difference between the 7'"'X and the p"> -
= 12949002 Y975 LONMYI 39X D9 NP NIvwIve
For the p"% of X7 argues on »X»w 219 as >"'w1 explained -
=919 UNINYIY 29N NDIWT RNNDO 3NNT INNT
That the one who teaches the argument of X against »X»w 29, etc. does not

agree that s">XW ruling was only 127°ww) -
= DRINYIN 1D NDT X220 NNDY D197 99NT NN 139509

8 When we assumed that that s">Xmw ruling was only 127ww.

® Once we have an obvious assumption by the X723 (the X»p X1w°%) that 1W*» is required by 157" (to the extent that the
X3 cannot accept that X7 should maintain that by 137 there is no 1W°» requirement), how is it possible that another
version (the "nR7 X3°K) can simply state that no 13X is required by 127°w.

19 The n"an mnam amends this to read, wnn% >"1% 7871 (instead of w157 7%73). See following nwoin [TIE footnote # 5].
11 5%11w1 21 maintain TR V3 797X even by 197w K2 (according to the P> that 131 877 *1NnT 187).

12 See footnote # 2.

13 Others amend this to 7771 (instead of 737).
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However, according to the 7'"'X, everyone maintains that X>'v is not arguing with

LRI -
$9999 XYY NN 99N 99 RTN 919X 9999 197°Y XY 995N NIYWA) YaNa NNYIN)

But rather the ruling of X7 was said independently of s"&mw ruling, and one
(o%1mw) said one thing (that [only] by 127w we require X’ 03),'4 and one (X91)
said another thing (that there is no need even for %1 by 127°w X?), and they (oRnw
X?137) do not argue.

Summary
According to *"wA the p"9 maintains that 1% is required by 127w according to

everyone; while according to the 7"X it is a dispute between HXmw and X9W.
However, Moo maintains that all agree that 1%°» is required by 127w, the p"?
maintains that X7 argues with X1 (by 127°w &%), while the 7"& maintains that 7w
made an independent ruling and there is no argument at all.

Thinking it over

The X3 mentions two versions (seemingly) in the view of X7w. However, according
to MooIn there is no difference in the view of X7 between the two versions, there is
only a difference in the view of X1w (whether his rule applies by 127w X?)!1°

14 See the following XX 71"7 'on for a clarification in the view of PR1w by 127w &5.
15 See w02 17"7 2,70 01N,
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